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AC = 6 ¢m
S em and ],2

=3 cm
D
1
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1
EXGXS cm?

= 24 cm? Ans.

i) Here, .dl

Area of thombus

I

7cmand d, = 6 cm

1

l "
— X 2.
> 7X6 cm

= 21 cm? Ans.

(i) Here, Base
Height

Area of triangle

—

8 cm
3 cm

5 Base x Height'

1
§X8><3 cm? = 12 cm?

Area of the parallelogram =2 x Area of u{angle

et
=4

2 x 12 cm? = 24 cm?

: " Ans.

(iv) Here, given parallel sides are a =9 cm, b
*Temand h=6cm

|

Area of trapezium =

I\

(v) Here, given parallel sides are
p = 5cmand h=5cm

-12-(a+b)xh
\

1 1
._2.(9+7))(6= '?—'x16

x 6 cm?

48 cm? Ans. ‘
a = 10 cm,

] :
Area of trapezium = 5(61 +byxh

1

- E(10+5)>< 5 cm?

1

- —x15%5 cm?
.

7-22 em? = 37.5 cm?.

—
—_—

(vi) Here, given parallel sides are a = 8 cm, Br=:
6cmand h=4cm

1
Area of trapezium = EX(G +b)Xh

-;—x_(8+6)><4 cm?

% x14 %4 cm?

= 28 cm” Ans.
Q. 2. The area of a rhombus is 320 cm? If
length of its one diagonal is 16 cm. Find the
length of the other diagonal.

- Solution. Here, area of rhombus = 320 cm”
Length of one of its diagonal (d;) = 16 cm
Let length of the other diagonal = d,

1.
— x Product of the

Area of _rhombus 5

3 1
diagonals = ?,:dl x d,

320 = 3 X 16 x d,
ie. 8d, = 320
. 320
So, d = 4 =40cm

Hence, length of other diagonal
: = 40 cm Ans.

Q. 3. One diagonal of a quadrilateral field
is 24 m and the altitudes dropped on it from -

| the opposite vertices are 8 m and 13 m. Find
. }he‘ area of the field [fig. 9.16 (Textbook)].




8m

-—-l 24m

13m

Solution. Here, hy =13 m, hy=8mandd =
24 m

1
Area of the quadrilateral = Ed (hy + hy)

oy %x24 x (13 + 8) m2

= 12 x 21 m? = 252 m?2
Hence, area of the field = 252 m? Ans. -

Q. 4. The diagonals of a rhombus are 7.5
cm and 12 cm. Find its area,

Solution. Here, d; = 7.5 cm, d, =12 cm

1 :
Area of the thombus = 5 Xd; xd,

i G
= 5%75 x 12 cm?

, , = 45 cm? i
Hence, area of the rhombus = 45 cm?

Q. 5. Find the area
of diagonal is 1¢ cm,

Solution. Here, length of diagonal (d)

1 Lo g
- X _ = 2
> & = 2><(10) cm

Ans,
of a square whose length

=10 cm

Area of square =

1

= 5 X100 cm? = 50 ¢m2

Hence, area of square = 50 2 Ans,
Q. 6. Find the area of a rhom

cm and altitude 4.8 cm,
Solution. Here, side of the rhombus =
and altitude = 4.8 cm

bus with side 8

80m‘

field if the parallel sides are of length 250 @

b =160 m

= si Ititude
a of rhombus = side X a
Falal = 8 x 4.8 cm? ;
= 38.4 cm? ; |

Hence, area of rhombus = 38.4 cm” Ans, |

Q. 7. Find the area of rhombus whose side
is 5 c‘m .and whose altitude is 4.8 cm. If one of
lts diagonal is 8 cm. Find the length of othey
diagonél.

Solution. Here, side of rhombus = 5 cm'

and altitude = 4.8 cm i :

Area of rhombus= 5 x 4.8 ¢m* =24 cm

l "% Product of the

Also, area of rhombus = >

diagonals
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S 8xd =

5
8 .
Hence, the length of the other diagonal

= 6 cm Ans. L
Q. 8. Find the area of a trapezium shaped

= ‘ d = =6CH1

and 160 m and the distance between them is

Solution. Length of paralle] sides a = 250 m,

and Distance between them, h = 100 m

Area of trapezium = %_—x (@a+byxh

1
27 250+ 160) x 100 m?

Il

1
EX 410 x 100 _mz

20500 m2 Apg,

Other parajjel side
ts area g 300 m2,

nd distance between

—
~—

Q. 9. Fing the
trapezium ijf j
side is 15 a



Let other paralle| side = ¢
jstance
Di : beft“feen parallel sisdes () = 5 _ 1 45x32 cm?
Area Ol rapezium = 3 ) | m 5
A 1 = 45 x 16 cm?
Area of trapezi g LY ;
g 2 X Sum of parallel sides = 720 cm 3
Area of 2400 tiles = 2400 x 720 cm
; x h 2400 X 720 5
= 300 = — P VTPl {
‘ 5> (L +d) x 15 100 % 100
=15 +d) x 15 = gpg = 172.8 m?
60  Cost perm? = 34
- 1544 = TSO =40 Total cost of 172.8 m? =3 4 x 172.8
d = 40_1 = 691.20
i : ] —15=25m . i
: Hence, total cost of polishing the floor
Hence, thq length of other pamud side =25 m : L g

; St Ans.
Q. 10. Find the area of a trapezium whose
parallel sides are 1 m and 1.2 m and

m.

Solution. The paralle] sides of the trapezium

aea =1 m, b = 1.2 m and perpendicular distance
@=08mg .1 B

Area of;the trapezium = 3 X(a+b)Xh .
i T e S,
— 5(1+1.2) X 0.8 m°

P —12-'><2.2x0.8_,m2

. = 0.88 m?Ans.
Q. 11. The floor of 2 building consists of 2400

tiles which are rhombus shaped having

ngth. Find the

i d32cminle
diagonals 45 coninc if the cost per

total cost of polishing the floor,
m? s ¥ 4. ;'

Solution. Here, dy = 45 €M, dz. =32 cm

» 1 ; 3 £
Fads e t of diagonals
~.Area of onc‘tllle o Produc &

i lxledz
A

perpendicular distance between them is 0.8

Q. 12. Multiple Choice Questions :

(i) Find the area of a rhombus whose
~ diagonals are 4 cm and 6 cm.

(@) 24 cm? () 12 cm?
(¢) 10 cm? (d) 18 °cm?®. :
. (ii) Find the area pf a square whose diagonal
is d. ; :
. ¥ i
(@) d* (b) Ed
48 1 '7
(c) 2d? d) 5d%

~ (iii) Find the area of the given figure.

-

10cm

5cm .

18cm!

(@) 70 cm?
(€) 90 cm?

~ (b) 180 cm?
(d) 120 cm?.

Ans. () ) 12em? (D) (d) %dz
(iii) (a) 70 cm?2




